%ﬂé,

5 ovg 5 . 2R
HE MR RBEDS

RRHED L A E

BL > %
SRR BSR4




FuE FERIMMAEH

A% 4t g (randomvariable) X: Q -0 i.e. X ZEHEKRZTH
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ChHEERRATRET  cREEANX () BIEET - — BT
#%, Xl(a) A # % -

O X RRBEMEEDE A ARG T RMASNHHK - 74 random
variable or ¥4 & random variable (r.v.) -



Ex4l #H—EE%F > & rVv. X, X, X, 2o F

1 if =1
2 If w=2
Xl(w):< : :
6 If w=6
(6 if =1
7 If w=2 |
X, (w)=1". , e X,=X,+5.
11 If w=06
(5 if =1
X, (w) =110 if w=2 ie X,=5X,




FALE  EERUAREAR R

discrete rv. X : —18 rv. X, B AH R % Afinite) X 4 T# e
f& % 18 (countable infinite) #& % -

EX.
£ Ex4.1 4 X, X,, X, % discrete r.wv. ¢

¥ lEREBREEETaHE -



AR rv. € & F 4 (event)
Ex. /£ Ex4.1

{w: X (w)<s2={1,2 iemThnilmn2g-

{aw:7< X, («)<9}={3, 4}

{e: X,(e) =25 ={5}



X : discrete rv. HEAD ,b,, -

function) f, %7 :

T & X 09 #% R % # (probability

fu(b)=Ple0QX(«)=b}) Oi=12-
mie ey f, =0
#{e0QX(e)=b} #HZ &R {X=h}

e

mle0QX(w)<al #ExR {X<a



3% discrete rv. X, Bl{c< X <a} % &4 %% event such that
{X=b,c<h<a

ie. {c<X<al= U{X =b}

c<b<a

{X=b} OiznzrFs

OP({c< X <a})= P(EJ{X = b,}j = CESE(X =h)



%3k, Q=UX =b}

> P@)=P(U{X =b}|=EP(X =B} =5 1, (n)

U2 f, AMERE, LHEUTHREY:
@) f (b)=0 Ti=12-

@ = f.(b)=1



B oh—F R ORI
Ox0O0, f () Plea0QX(w)=x})

=P(X =x)

m P({c< X <a})=P{a0Qc< X(«)< a})
=Ple0QX(x)=x%, c<x<a})

= P(Cy {wOQX(w)= x})
> PlabQX(a)=x)

<<<<<

c<X<a c<X<a



Ex 4.2 # & Ex4.1 ¥+ X,

1 if =1

2 If w=2
Xl(a))=< : :

6 If w=6

f (1) = Pl QX () =1) =

f(6) = Pw0QX,(c) = 6})



P({X1S2}): f. (1) + fX(2):%
1

P{X,>3})=f (4)+ f,(5)+ f,(6) =



X : discrete r.v., & & H R #HF 4 E & B (Cumulative
Distribution function , cdf ), B4 F, & r4e7F :

0 x00, F,(x)=

P(x <x)=P({w0Q|X ()< )

=P{e0QX(w)=y, y<x})

=P U{x(@)= 1)

y<Xx

= X P(X(a)=y)

y<X

=> f, (y)

y<X

e 4 —EETH X

Fo(X): X EBRAE DR FRX %R A8 o
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fr3C < a
) {X<al={X<c}0{c< X <a}

= P({X <a})=P({X <c})+P({c< X <a})



Ex43 # & Ex41 ¥ X,

C X, HBERBEH T
fr (%)
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X,y cdf 3 -

If

If

If

If
If

X<l

1< x<?2

2<X<3

5<x<6

X=6

—

—

—

—

—

Fra(X) = P(X, £ X) =
Fra(X) = P(X = X) =

Fra(X) = P(X; = X) =

Fra(X) = P(X; = X) =
Fra(X) = P(X, £ X) =
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(0 ,if x<1
s, If 1sx<2
OF,(X)=92 ,if 2<x<3
1 Af X=6
Fx,(x)
1 *—

*—o

o

*—o

Vo




L R, A—FeE&# (Step Function)
1
P(X,=2)===F,,(2)-F,,(2
(X,=2)===Fu(2)Fu(2)

Ingeneral, P(X,=a)=F,(a)-F,(a)

Ex. P(X,=2.8)=F,,(2.8)- FX1(2_8‘) =

oIN

oOlIN

=0
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Notes: If F(x) isacdf,then

1. F () =lim F, (x)=0

2. F, (0) =limF, (x)=1F, («) = ¢n F, (x) =1
3. F, (x) isanondecreasing function.
e if  x<x = F(X)sF(X,)

4. F, must be right continuous.
e limF (x)=F,(a) O ab0O
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